Tod

® 0.001

@ -6

— |

@ -1.9 ®

O n



@ 10x-x

@ 1000x — 10x

@ 100x — x

3 1000x — 100x

@ 100x — 10x



3. The % AN 2 UeA] Wk ShRS? (Ba%0,b%0)

@ a*xa*xa @ a'®+
® (@) + @ (@) + ()
® (a%)?



3
4. (;axlﬂ) +%b = 6a®p & W, A5 x, y ol tHot x +y 9]

*2?



e % 712 Zolrt (Z)z Aze g7t (L)

Holg 7ahr?

@ 9 ? 16 3 95 @ 49



of @ it ol A] 2x — 5y + 3-& wWjojoF T

z A

6x —y+47F = AT}, of o, vf2A] Aire G2
O —6x+4y -2 @ -4x—-4y-1

® 2x+9y-2 @ 8x—-6y+7

® 10x-11y + 10



7.

(3x+2a)? = 9x? + bx + 16 & ), ab ] 27 (

D 16 ® 22 3 36 @ 42



8. A=2x-y B=-x+2y ¥ ], 2A - 3B & AAt 222

D x+4y @ x-8y ® Tx+ 4y

@ 7x-8y ® Tx+2



9. 294032 Axtste] 7|4 R YERlE
(P, a, b= D)

QS

A, a+ b F2?

@D 3 ® 13 ® 23 @ 27 ® 33



ol
ol
ofg
Nfo
BO

oln

o] 27} ol



11.

e F &4 g2 AL

flo

@ (x+5)(x-5)=x2-25
@ (-4+x)(-4-x)=16-x2
® (-a+3)(-a=3)=-a>+9

@ (—x-2y)(x—2y) = —x% + 4

1 1 ) 1
® (y+1)(v-1)=r-=



12.

2x-y) =3+x+y¥

29

PSS

O -x+1

@ 2x -4

,2(x=2y) +y—25 xof B3+ 4]

@ x-2

B 3x-5

F =

® 2x-3

o= vehd



13. o thab 4.2 222 0.8 LRrglE L, B2 26 —4x+3 o] 2, Ll 2|7}
2x -5 09I}, o] ThaHAle] v o] A%-E PatH?

@D -5 @ -3 3 2 @ 4 3 6



31 1 1
14. a+b+c=1,a2—|—b2+c2:§ -

y =+ -+ = =1L W, abe o] G127
a b c

1 1 1
-1 @-; ©-; @-7 0



